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N.B. .— (@) Attempt All questions.

(@1) All questions carry equal marks.

(@it) Use of calculator is permitted.

(@) §d TR gren

(i) W& YA A O S

(iii) ~ TOTRESATAT STOUH YA SR

1. What is Hypothesis ? Explain the types of hypothesis. 10
YReheqTl WS hd ? GReheddd YR TR .
Or
(fenam)

In a random sample of 600 men taken from Nanded city 400 were found
vegetarian. In another random sample of 900 men taken from Parbhani city

450 were found vegetarian. Do the data indicate that there is significant
difference in the habit of food in the two cities. (SE,,, = 2.58)

e YA BHacied 600 JEo=1 Agesieh T 400 &9 TMEhERT 3T@eect. TXHTT
SR Bdeiedl 900 JEo=1 Agesieh T4 450 T8 YRR eTeeed g ehear]
T VRS STEU SRR Hordlid Aaviia wieh TR 3T Rl e ?

(SEyy, = 2.58)
P.T.O.
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What is t-distribution ? Explain its application. 10

fo-famo =oN ®™ ? TN G TR R
Or
(fenam)
In an national campaign in a certain area quinine was administered to 832

persons out of a total population of 3288. The numbers of fever cases are

shown below :

Treatment Fever No Fever Total
Quinine 30 802 832
No qunine 230 2226 2456
Total 260 3028 3288
Discuss the usefulness of quinine in checking malaria. (X20_05 = 3.84)

e faf¥Tse e FeRtn Tdiaes HRHd THUT 3288 SHKIUH 832 SR Hell
atsiereh iy Q0ITd 3 ATd SATAdl T G&A Wleiiel qeiaiera YH SR,

TR g ag THUT
ITAA THAA

PRIE Gl G I S| 30 802 832

e fmet feer 230 2226 2456

TR 260 3028 3288

TR qIEUid Aeriel Jdieeeh SHuEr=a SUgekid aed ==l .
(%05 = 3.84)

Explain the techniques of analysis of variance. 10

JeRul faverso= T TR .
Or
(fenam)
It is observed that 5 carpenters A, B, C, D and E, Produce the following number

of table in a week.
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Carpenter_ | Mon. Tue. Wed. Thu. Fri. Sat.
Day
A 14 15 12 15 16 —
B 23 19 20 23 — —
C 24 22 28 26 24 27
D 18 17 21 16 — —
E 21 22 18 18 20 21

Test the hypothesis that the average number of table produced in a week

is the

same for all the carpenters (table value at 5% and 1% levels of sig-

nificance are 2.87 & 4.43 respectively.)

Tl FROeomstdt o= AR Stk sheledl Jdarel &A1 Jeid YA TR

qar AR | B | ge6aR | TeaR | Jeha® | 9TfHEr

faaw

A 14 15 12 15 16 —

B 23 19 20 23 — —

C 24 22 28 26 24 27

D 18 17 21 16 — —

E 21 22 18 18 20 21
el AR Teh1 STSTSAM IR heled] daeli=l TUad H&a arel 38 & ?
¥ Tédes U (5% ST 1% TeTON UIdesiell 3Tgehd 2.87 ST 4.43 Tl oo 2T,
Write short notes on any two : 10

(@)
€22)
(i17)

Standard Error
Chi-square test

In an experiment coin was tossed 300 times and the head turned up

200 times test. The hypothesis that the coin is unbiased. (SE ;. = 1.96)

P.T.O.
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(tv) The following figures are related to the production of Jowar in kgs.

of two varieties A and B shown in six plots :

A 30 32 22

B 20 18 16

Is there any significant difference in the production of two varieties.

(Fyos = 7.71)

TeAiedeh! Il grer diesrd fear faar .
G  9HO S
G) Ta. wEmR =mEh

(i) USRI WA Ueh A9 300 dedl 3¥esel 3THAMT 200 I Iid U HATA. 81 JANT
qaE gold e A == . (SE; o5 = 1.96)

(iv) HEl Wied ALY Yoledl Sl A 3701 B 31 §F T4 Sy fAaetel ScareH
.. O el daT geiEe oTE

A 30 32 22
B 20 18 16

I HEdH SO Sl 3caieAd. A&Tog leh 318 g 2 d9TEl.
(Fy s = 7.71)
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